BRI

bR AR

No.1 T By A W % S
T f# A H i H" X B = B
HEKW R T
BT
FE S U T
EHEYIET t=5cm WMETHAEESR =84. 4 84. 00
m
SRIEIRRCERDA  t=bem HERUENE SR =148. 17 148. 00
m?2
BEMTEM  AsBl L=4. Tkm [148. 17%0. 05 =7. 41 7.00
e EARE m3
av 7 U — hEUEL WMETHAEESR =2.4 2. 00
TR, m3
BEATERE kB L=4. Tkm =2. 4 2. 00
e EARE m3
av 7 U — hEUEL WMETFHEESMK 3.1+0.8 =3.9 4. 00
IR Co, MRATH m3
BEM TEW: ARG Co, MRAFE =3.9 4. 00
L=4. Tkm R§EAE m3
WLy
JFERA HLER 7.41%2.3/1.8 =9. 47 9.50
A s Bl m3
JFERA HLER 2.4%2.5/1.8 =3.33 3.30
TR, m3
JFERA HLER 3.9%2.35/1. 8 =5. 09 5.10
AT Co m3
+T
B T T EHAEESR =106. 9 107. 00
m3
ML D T T EHAESR =11.6 12.00
BERA+ m3
A ERM L =2km 106.9-11.6/0.9 =94. 0 94. 00
BT~ m3
B s N HhEEHE =94.0 94. 00
m3
FEH IR T THERSR =43.2
TRITE+SE K Pk 43.00 | m2




BRI

bR AR

No.2 TR R
T F& gl H iR B & B
/IR T
HE T
H i A ELR#E 300 X 300 B[S fR =40. 0 40. 00
Y= m
SHEEHEa/ ) =) t=5cm 0. 57%0. 05%40. 0 =1.14 1.14
18-8-25BB %:7#0.285m3/10m 4 m3
KA t=10cm 0. 670. 1%40. 0 =2.68 2. 68
RC-40 %%0.67m3/10m 4 m3
REWTH B B A BR300 X 300 |EBAKIS M =2.0 2. 00
m
LA ))-F  t=10cm 0. 57%0. 1%2. 0 =0. 11 0.11
18-8-25BB %%0.57m3/10m 4 m3
KA t=10cm 0. 67%0. 1%2. 0 =0. 13 0.13
RC-40 %%0.67m3/10m 4 m3
REWTH B B A BLERE400 X 500 |REBAKIS M =3.0 3. 00
m
LA ))-F  t=10cm 0. 68%0. 1%3. 0 =0. 20 0. 20
18-8-25BB %%0.68m3/10m 4 m3
KA t=10cm 0. 78%0. 1%3. 0 =0. 23 0. 23
RC-40 %%0.78m3/10m 4 m3
R B B A ERE400 X 600 | REEH X2 R =3.0 3.00
m
LA ))-F t=10cm 0. 68%0. 1%3. 0 =0. 20 0. 20
18-8-25BB %%0.68m3/10m 4 m3
KA t=10cm 0. 78%0. 1%3. 0 =0. 23 0.23
RC-40 %%0.78m3/10m 4 m3
H i A ELRI#E 500 X 500 B[S fR =2.0 2.00
[ m
SHEEHEa/))-) t=5cm 0. 79%0. 05%2. 0 =0. 08 0. 08
18-8-25BB £7#0.395m3/10m 4 m3
KA t=10cm 0. 89%0. 1%2. 0 =0. 18 0.18
RC-40 %%0.89m3/10m 4 m3
R B B A ERES00 X 500 | EEH X2 R =2.0 2.00
m
LA ))-F  t=10cm 0. 79%0. 1%2. 0 =0. 16 0.16
18-8-25BB £%0.79m3/10m 4 m3
KA t=10cm 0. 89%0. 1%2. 0 =0. 18 0.18
RC-40 %%0.89m3/10m 4 m3
H i A ELRI#E 500 X 400 B S fR =6. 0 6. 00
[ m
SHEEHEa/))-) t=5cm 0. 79%0. 05%6. 0 =0. 24 0.24
18-8-25BB £:7#0.395m3/10m 4 m3
KA t=10cm 0. 89%0. 1%6. 0 =0. 53 0. 53
RC-40 %%0.89m3/10m 4 m3




Hoie stk LB R

No.3 DEIY AT RS v
T gl H L =Y B & B
AN =hay))-}  18-8-25BB 30075 (40. 0+2. 0)*0. 3%0. 05=0. 63
400% (3. 0+3. 0)*0. 4%0. 05=0. 12

5007 (2+2+6) *0. 5%0. 05=0. 25 =1.0 1. 00
m3

HHAEMAMEC o & 300% =32.0 32.00
HIEM L=0.5m e

H AR V-0 & 3007 =4.0 4. 00
T-20 L=1.0m e

W B A BN Vv-Fv )T 2530078 =1.0 1. 00
T-25 L=1.0m # W} | %

W B B A BN V-Fv )T 2540078 =2.0 2. 00
T-25 L=1.0m # W} | %

W B B A B V-Fv )T 2540078 =2.0 2. 00
T-25 L=0.5m # VHEE b4

HHAEMAMEC o & 500% =4.0 4. 00
HIEM L=0.5m e

H HAEME v-F/)" # 5007 =2.0 2. 00
T-20 L=1.0m e

W B B A BN V-Fv )T 2550078 =1.0 1. 00
T-25 L=1.0m # VHEE b4

oKL

SEAKHE3 500X 500 X 800 =1.0 1. 00
[EE)

¥ay))-b 18-8-25BB & X 2 B =0.33 0.33
m3

ST e 5 X2 IR =3.9 3.90
m2

MELEMEA t=15em 5 XS IR =0.8 0. 80
RC—-40 m?2

SEKBEA 500X 500 X 800 =1.0 1. 00
[EE)

savy)-h  18-8-25BB 18 (X 2 I =0. 35 0.35
m3

ST e 5 X2 MR =4, 1 4.10
m2

AL t=15em 5 XS IR =0.8 0. 80
RC—-40 m?2

KB V1) % 5007 =2.0 2.00
T-25 SZHedt B




BRI

bR AR

No.4 TR R
T F& gl H L =Y B & B
HEKE T
TLXRIUTIVE $300 =2.0 2.00
m
HERAT B E T
fxfa 1
HEEER 70 v 7 AT 3.0+3.0 =6. 0 6. 00
120X 120X 2000 34 m
scavy)-h  18-8-25BB & 2R 0. 18/10%6. 0 =0. 11 0.11
m3
AL t=10em &K= 2.2/10%6. 0%0. 1 =0. 13 0.13
RC-40 m3
BiSt T
BRPGERE  CokE FRET  PRELEE IR b =4.0 4. 00
S A ZD
BT T
TAT 7V A T
TEKEET  t=25cm AT 2 =175.8 176. 00
BAITyv=-7740mmEL T m2
@A T t=15cm At rT 2 =175.8 176. 00
Rt M-25 m2
FET t=bcm HfER R E S =175.8 176. 00
FAEBRIEAs20 F m?2
B fHaidt t=4cm LY GG i =31.4 31. 00
FAEBRIEAs20 F m?2
AR 1.
DX B R X T L
SMABR+TLOER ERR A [V [81+81+20 =182m 182. 00
W=15cm m
DR AR A A/ haR 20 =20. 0 20. 00
W=15cm m




T FHREE P26 A E 1) No.1
il il B =X £ &
AL RRG)
t=5cm 1.=20.0+15.0+49.4 84.4 84.4m
a7)-MEEEL @ BF I-300%2E% 146.0kg/2.0m>4 L 21.8m
(ZRELA)
V=146.0/2.5/2.0%21.8%2 1273.12 1273.1kg
@ BF I1-300 146.0kg/2.0m>4 L 21.8m
V=146.0/2.5/2.0%21.8 636.56 636.6kg
® P1-RC-D300(HP%) 165.0kg/2.0m>4 L 14.0m
V=165.0/2.0/2.5%14.0 462.00 462.0kg
@ EESERToys CHE 81.0kg/1fEY L 1.0m
V=81.0/0.6/2.5%1.0 54.00 54.0kg
&t 2425.68
1/1000 2.42568 2.4m*
y)-bEL O v )-hEEE L 21.8m
e
V=1/2%(0.20+0.28)*0.4%21.8 2.09 2.1m
@ PI1-RC-D300 0.688ni/10.0m34 L 14.0m
V=0.688/10.0%14.0 0.96 1.0m
&t 3.05 3.1m
MARREL O #AREdE) H=1.00 L 2.0m
V=1.0%1.044%0.3%2.0 0.63 0.6m
@ AFEGZE20) H=0.40 L 2.0m
V=0.4%1.019%0.2%2.0 0.16 0.2m
&t 0.79 0.8m




26

X51 Xx52
O0—0

S=1:-500

X55 X56
Q

26
Y Yn*(Xn+1-Xn-1)
Xa7 -9504.471 -45651._.302 925808 .404560 20.497
X48 -9524.887 -45649.485 959826.071610 1.247
X49 -9525.497 -45650.573 45878 .825865 0.995
X50 -9525.892 -45651 .486 88381 .276896 1.549
X51 -9527.433 -45651._.321 163294 775217 2_037
X52 -9529.469 -45651.277 957489.883798 19.005
X53 -9548.407 -45649 .668 871406 .512452 0.920
X54 -9548 .558 -45648._.761 -8673.264590 3.377
X55 -9548_217 -45645_.401 125114.044141 3.094
X56 -9551.299 -45645.127 239682.561877 2.828
X57 -9553.468 -45646.942 508689.521648 9.010
X58 -9562.443 -45646.144 413280.187776 0.898
X59 -9562_.522 -45647 038 -6253.644206 0.219
X60 -9562.306 -45647 .069 -17528.474496 0.617
X61 -9562.138 -45647 .663 8262.227003 0.747
X62 -9562.487 -45648.323 —-386686.944133 8.849
X63 -9553.667 -45649 .036 -397511.805488 1.397
X38 -9553.779 -45650.428 —287049.891264 6.425
X39 -9547.379 -45650.998 -361738.508152 1.530
X42 -9545 _855 -45651.133 -613186.018456 11.955
X43 -9533.947 -45652_.193 -589095.898472 1._.000
X46 -9532.951 -45652.282 -1331905.327350 28.290
X1 -9504.772 -45654.789 -1294039.339416 1.861
X2 —-9504 .607 -45652.935 -13741.533435 1.639
296 .356615

148.1783075

148.17




T HEHHEE 149
4 PR 7t H B 7| & &=
JEHI
BIRKFH AR E LV
V1= 106. 90 106.
pIRY 106. m3 107
paiiy=Ey
BIRKEH AR E LV
V1= 11.60 11.
XV 11. m3 12
FH IR
H A EHE 300X 300 40m
A= 0.67X40.0 26.
R B B AEEE 300300 2m
A= 0.67X2.0 1.
AT B B2 EETE 400 X500 3m
A= 0.78X%3.0 9.
W B B2 EETE 400 X600 3m
A= 0.78X%3.0 2.
H A EHE 500 X500 2m
A=0.89X%2.0 1.
T B B AEEE 500 X500 2m
A= 0.89X%2.0 1.
H A EHTE 500 X 400 6m
A= 0.89X6.0 5.
kBt 3 500 X500
A=0.9X%X0.9 0.
EkHE4 500 X500
A=0.9X%X0.9 0.
XV 43. m2 43




Al BERtAE
T BEL Wr om AE IR TR + B fii
2 2 3
m m m
No.2+2. 81 — I e
No.3 17.19 1.9 1. 90 32.7
No4 20. 00 1.3 1. 60 32.0
NoA+4. 17 4. 17 1.3 1. 30 5.4
No.4+6. 29 2.12 2.9 2.10 4.5
EP
No4+10. 00 3. 71 2.9 2.90 10. 8
No4+10. 29 0.29 2.9 2.90 0.8
NoAd+12. 41 2.12 2.2 2.55 5.4
NoAd+12. 41 0. 00 1.7 1.95 0.0
No.5+1. 42 9.01 1.7 1. 70 15.3
HEk 58. 61 106.9 1m?




il S BEl Wr om M i AR m ]
m m m°
No.2+2. 81 — I e
No.3 17.19 0.2 0. 20 3.4
No.4 20. 00 0.2 0. 20 4.0
No4+4. 17 4.17 0.2 0. 20 0.8
No.4+6. 29 2.12 0.2 0. 20 0.4
EP
No4+10. 00 3.71 0.2 0. 20 0.7
No4+10. 29 0. 29 0.2 0. 20 0.1
Nod+12. 41 2.12 0.2 0. 20 0.4
Nod+12. 41 0. 00 0.2 0. 20 0.0
No.5+1. 42 9.01 0.2 0. 20 1.8
At 58.61 11.6 m®




£ET - g - TEkik

T

TR R TR

v

No.1

il R S At e -2 T8 ] i
m m m
No.2+2. 81 —— .08 | @ —— | -
No.3 17. 19 3.08 3. 08 52.9
No.4 20. 00 3. 08 3. 08 61.6
No.4+4. 82 4.82 3. 08 3. 08 14. 8
No4d+4. 82 0. 00 3.03 3. 06 0.0
No4+4. 96 0.14 3.03 3. 03 0.4
No.4+5. 49 —— .03 | —— |
EP
No4+10. 00 4.51 3. 03 3. 03 13.7
No4+10. 62 0. 62 3. 03 3. 03 1.9
No4+10. 62 0. 00 2. 77 2. 90 0.0
NoA4+11. 42 0. 80 2. 77 2.77 2.2
NoA4+11. 42 0. 00 2.85 2.81 0.0
No4+12. 41 0.99 2.85 2.85 2.8
No4+12. 41 0. 00 1. 65 2.25 0.0
No.5 7.59 1. 65 1. 65 12.5
No.5+1. 42 1. 42 1. 65 1.65 2.3
No4+4. 17 —— ooo | —— | @ —
No.4+4. 82 0. 65 0. 48 0. 24 0.2
No.4+4. 82 0. 00 0.15 0.32 0.0
No.4+5. 62 0. 80 0.95 0. 55 0.4
No.4+5. 62 0. 00 1. 22 1.09 0.0
No.4+6. 29 0.67 2. 06 1. 64 1.1
No.4+10. 29 4. 00 2. 06 2. 06 8.2
NoA4+11. 42 1.13 0.75 1.41 1.6
NoA4+11. 42 0. 00 0. 82 0.79 0.0
No4+12. 41 0.99 0. 00 0.41 0.4
/NG 24. 17 177.0 o




RIET - bR TEEET R ERERE No2
NAT] I s e [ e [AIAR fi E3
m m m
LA No.4+4. 17
R T ey 2| ~+12.41 0.12 6.0 0.7
KA
F£H 1 0.43 % 0.43 % 7 *x 1/4 0.1
KA
FH 1 0.72 % 0.72 % 7 = 1/4 0.4
/NEE 1.2 of 2
foi &t 175.8 nf O-@




Huffamidt mfgatHEE
M| I IiA & IR NG e R [HIAR fid £
m m m m m
LAl No.2+3. 50
~No.3+3. 50 20. 0
LAl No.4+7. 29
~+9, 29 2.0
LAl NoA+11. 41
~No5+1. 42 9.5
JNE 31.5 nf )
PR
KA
INFEHER B 1 0.33 % 0.33 % zx * 1/4 0.1
JNEF 0.1 nf @
ost 31.4 nf O-@




[l

% =

KIS

G2-B500-L500-
H800

k3 (G2-B500-L500-H800)

——— 1fEPRYEY ———

« 27 J— b (18-8-25BB)

v 1=0.80X0.80X0.95

— v 2=0.50X0.50X0.80

— v 3=0.52X0.40X0. 15

— v4=0.30X0.30X0. 15

— v 5=0.53X0.40X0. 15

a1=0.80X0.95X2 X1

a2=0.80X0.95X2 X1

a3=0.50Xx0.95X2 X1

a4=0.50Xx0.95X2 X1

—ab=0.52X0.40X2 X1

—a6=0.30X0.30X2 X1

—aT7=0.53X0.40X2 X1

« ELHERF (RC-40, t=15cm)

A=0.90X0.90 X1

Sy

A=0.90X0.90 X1

X1

X1

X 1 (VS400%600F5 47 )

X 1 (VS300%30045 47 )

X 1 (VS400%600F5K 47 )

(VS400+600%5 47 1)

(VS300300%# 47 1)

(VS400+600%5 47 1)

« JL—F 7 ZET-25(500 X500 /)

xV

ZA

1 &EAT

-0.20

-0.03

-0.01

-0.03
0.33 m3

-0.4
3.9 m2

1

0.8 m2

0.8 m2

G2-B500-L500-H800

n= 1f&FT

1S Y

a7 Y—F
V=0.33 m3

T L—F T ET-25

n=1#¢

bt
A=0.8 m2

Vo

A=0.8 m2




Al AL =X B &
okt K (G2-B500-L500-H800) 62-B500-L500-H800
G2-B500-1.500~ no= 1A n= 15T
H800
——— 14y ——— —1fEFTE Y —
- 227 J— | (18-8-25BB)
v1=0.80%0.80%0.95 X1 = 0.6l
—v2=0.50%0.50%0.80 X1 = -0.20
— v 3=0.46X0.40X0. 15 X 1(VS400*500%# K7 ) = -0.03
— v 4=0.45X0.50X0. 15 X1(VS500%500%# K7 ) = -0.03 a7 Y—F
SV = 0.35 m3 V= 0.35 m3
P
a1=0.80X0.95X2 X1 = L5
a2=0.80X0.95X2 X1 = L5
a3=0.50X0.95X2 X1 = 1.0
a4=0.50Xx0.95x2 X1 = 1.0
—a5=0.46X0.40X2 X1 (VS400%5004 kT ) =-0.4
— a6=0.45x0.50X2 X1 (VS500%5004#r ) = -0.5 TR e
SA=4.1m2 A=4.1 m2
- 7 L—F 2 7 #ET-25(500 X 500 ) I U—F I ET-25
n=1# n=1#¢
- JLRERS (RC-40, t=15cm) SRS
A=0.90X0.90 X1 = 0.8 m2 A=0. 8 m2
- T B S
A=0.90X0.90 X1 = 0.8 m2 A=0. 8 m2




